

A Note on Rough Abel Convergence

Öznur Ölmez and Ulaş Yamancı*

Abstract

In this paper, we define a new type of Abel convergence by using the rough convergence of a sequence. We also obtained some results for this convergence.

Keywords: Abel convergence; Abel summability; rough convergence; rough limits.

AMS Subject Classification (2020): Primary 40A05; Secondary 40D09.

*Corresponding author

1. Introduction and Background

The idea of rough convergence of a sequence was first given by Phu [1] in normed linear spaces as follows:

Let (a_n) be a sequence in the normed linear space X , and r be a nonnegative real number. The sequence (a_n) is said to be *rough convergent* to a with the roughness degree r , denoted by $a_n \xrightarrow{r} a$, if for every $\varepsilon > 0$ there exists an $N(\varepsilon) \in \mathbb{N}$ such that $\|a_n - a\| < r + \varepsilon$ for all $n \geq N(\varepsilon)$ [1].

The r -limit set of the sequence (a_n) is denoted by

$$LIM^r a_n = \left\{ a \in X : a_n \xrightarrow{r} a \right\} [1].$$

The sequence (a_n) is said to be rough convergent if $LIM^r a_n \neq \emptyset$.

If a sequence is convergent, then it is rough convergent to the same value for each r . The converse of this claim is false, as shown in Example 1.1.

Example 1.1. Let $X = \mathbb{R}^2$ and define a sequence (a_n) as follows:

$$a_n := \left(\frac{(-1)^n}{2}, 0 \right)$$

This sequence is rough convergent to $a = \{(0, 0)\}$ for $r \geq \frac{1}{2}$. But it is not convergent to $a = \{(0, 0)\}$.

Received : 06-11-2022, *Accepted :* 05-12-2022

(Cite as "Ö. Ölmez, U. Yamancı, A Note on Rough Abel Convergence, Math. Sci. Appl. E-Notes, 11(4) (2023), 192-197")



A sequence (a_n) is said to be rough Cauchy sequence (or ρ -Cauchy sequence) with roughness degree ρ if for every $\varepsilon > 0$ there exists an $N(\varepsilon) \in \mathbb{N}$ such that

$$\|a_m - a_n\| < \rho + \varepsilon \text{ for } m, n \geq N(\varepsilon) \text{ [1].}$$

ρ is also called a Cauchy degree of (a_n) .

Proposition 1.1. ([2]) Let (a_n) be rough convergent, i.e., $LIM^r a_n \neq \emptyset$. Then (a_n) is a ρ -Cauchy sequence for every $\rho \geq 2r$. This bound for the Cauchy degree cannot be generally decreased.

We note that a convergent (or non-convergent) sequence can have different rough limits with a certain degree of roughness. This theory has been generalized by many authors with different theories. Aytar [3] gave the definition of rough statistical convergence of a sequence. The rough ideal convergence of a sequence is given in [4] and [5]. Malik and Maity [6] introduced the rough statistical convergence for double sequences. Laterly, Kişi and Dündar [7] defined the rough I_2 -lacunary statistical convergence of double sequences. The concept of rough convergence is expressed in general metric spaces by Debnath and Rakshit [8]. Moreover, Arslan and Dündar [9] extended this concept to 2-normed spaces. On the other hand, Dündar and Ulusu [10] studied on the rough convergence of a sequence of functions defined on amenable semigroups. Kişi and Dündar [11] investigated the rough ΔI -statistical convergence for difference sequences. Recently, the rough convergence of a sequence of sets has also been studied (see [12], [13]).

Our aim is to show that the rough convergence theory can be applied on many types of convergence in the summability theory, such as the Abel convergence. In this way, we think that new research topics can be obtained.

Throughout this paper, we suppose that (a_n) be a sequence of complex numbers. Now let's remind the definition of Abel convergence.

We say that a sequence (a_n) is *Abel convergent* to ℓ if the limit

$$\lim_{t \rightarrow 1^-} (1-t) \sum_{n=0}^{\infty} a_n t^n = \ell \text{ for each } t \in (0, 1) \text{ [14].}$$

Note that any convergent sequence is Abel convergent to the same value but not conversely ([14]).

Finally, let's give the series formulas that we will use throughout this paper:

$$(1-t) \sum_{n=0}^{\infty} t^n = 1 \text{ and } (1-t) \sum_{n=0}^{\infty} \ell t^n = \ell \text{ for each } t \in (0, 1).$$

Hence, we have

$$(1-t) \sum_{n=0}^{\infty} a_n t^n - \ell = (1-t) \sum_{n=0}^{\infty} (a_n - \ell) t^n.$$

In this paper, we first give the definition of the rough Abel convergence. We have proved that they are equivalent by giving an alternative representation of this convergence (see Proposition 2.1). We also show that every rough convergent sequence is rough Abel convergent (see Theorem 2.1). Lastly, we expressed the relationship between rough Abel convergence and Abel convergence (see Theorem 2.2).

2. Main Results

Definition 2.1. A sequence (a_n) is said to be rough *Abel convergent* to ℓ if for every $\varepsilon > 0$ and each $t \in (0, 1)$ there is an $N(\varepsilon) \in \mathbb{N}$ such that

$$\left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\| < r + \varepsilon \text{ for all } n \geq N(\varepsilon).$$

In this case, we write $a_n \xrightarrow{r-A} \ell$ as $n \rightarrow \infty$.

The r -Abel limit set of the sequence (a_n) is denoted by

$$A - LIM^r a_n = \left\{ \ell \in X : a_n \xrightarrow{r-A} \ell \right\}.$$

Let us now give an alternative representation of the rough Abel convergence of a sequence.

Proposition 2.1. For every $\varepsilon > 0$ and each $t \in (0, 1)$ there exists an $N(\varepsilon) \in \mathbb{N}$ such that

$$\left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\| < r + \varepsilon \text{ for all } n \geq N(\varepsilon)$$

if and only if the following condition holds:

$$\limsup_{n \rightarrow \infty} \left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\| \leq r.$$

Its proof can be given in a similar way by taking

$$f_n(t) = \left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\|$$

instead of the f function in the proof of [12, Proposition 2.2].

Theorem 2.1. If $a_n \xrightarrow{r} \ell$, then $a_n \xrightarrow{r-A} \ell$.

Proof. Given $0 < \varepsilon < 1$. Since $a_n \xrightarrow{r} \ell$, for every $\varepsilon > 0$ and each $t \in (0, 1)$ there exists an $N = N(\varepsilon) \in \mathbb{N}$ such that

$$\|a_n - \ell\| < r + \frac{\varepsilon}{2}$$

for all $n \geq N$. Let $M = \max \{ \|a_0 - \ell\|, \|a_1 - \ell\|, \dots, \|a_N - \ell\| \}$. Take $\delta = \delta(\varepsilon) = \frac{\varepsilon}{2(N+1)(M+1)}$. If $t \in (1 - \delta, 1)$ then

$$\begin{aligned} \left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\| &= \left\| (1-t) \sum_{n=0}^{\infty} (a_n - \ell) t^n \right\| \\ &\leq \left\| (1-t) \sum_{n=0}^N (a_n - \ell) t^n \right\| + \left\| (1-t) \sum_{n=N+1}^{\infty} (a_n - \ell) t^n \right\| \\ &< (1-t)(N+1)M + r + \frac{\varepsilon}{2} \\ &< \frac{\varepsilon}{2(N+1)(M+1)}(N+1)M + r + \frac{\varepsilon}{2} \\ &< \frac{\varepsilon}{2} + r + \frac{\varepsilon}{2} = r + \varepsilon. \end{aligned}$$

Consequently, we have $a_n \xrightarrow{r-A} \ell$. □

The next theorem shows the relationship between rough Abel convergence and Abel convergence.

Theorem 2.2. The sequence (a_n) is rough Abel convergent to ℓ if and only if there exists a sequence (b_n) in \mathbb{C} such that $b_n \xrightarrow{A} \ell$ and $\|a_n - b_n\| \leq r$ for every $n \in \mathbb{N}$.

Proof. (\Leftarrow) Since $b_n \xrightarrow{A} \ell$, for every $\varepsilon > 0$ and each $t \in (0, 1)$ there exists an $N(\varepsilon) \in \mathbb{N}$ such that

$$\left\| (1-t) \sum_{n=0}^{\infty} b_n t^n - \ell \right\| < \varepsilon \text{ for all } n \geq N(\varepsilon). \tag{2.1}$$

By assumption $\|a_n - b_n\| \leq r$, we can write for each $t \in (0, 1)$

$$\begin{aligned} \left\| (1-t) \sum_{n=0}^{\infty} (a_n - b_n) t^n \right\| &= |1-t| \left\| \sum_{n=0}^{\infty} (a_n - b_n) t^n \right\| \\ &\leq |1-t| \sum_{n=0}^{\infty} \|a_n - b_n\| |t^n| \\ &\leq (1-t)r \sum_{n=0}^{\infty} t^n = r. \end{aligned}$$

Thus we have

$$\left\| (1-t) \sum_{n=0}^{\infty} (a_n - b_n) t^n \right\| \leq r. \tag{2.2}$$

On the other hand,

$$\begin{aligned} \left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\| &= \left\| (1-t) \sum_{n=0}^{\infty} (a_n - b_n + b_n) t^n - \ell \right\| \\ &= \left\| (1-t) \sum_{n=0}^{\infty} (a_n - b_n) t^n + (1-t) \sum_{n=0}^{\infty} b_n t^n - \ell \right\| \\ &\leq \left\| (1-t) \sum_{n=0}^{\infty} (a_n - b_n) t^n \right\| + \left\| (1-t) \sum_{n=0}^{\infty} b_n t^n - \ell \right\|. \end{aligned}$$

From (2.1) and (2.2), we see immediately that

$$\left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\| < r + \varepsilon.$$

This shows that the sequence (a_n) rough Abel converges to ℓ .

(\Rightarrow) Let $a_n \xrightarrow{r-A} \ell$ and define the sequence (b_n) by

$$b_n := \begin{cases} \ell & , \|a_n - \ell\| \leq r \\ a_n + r \frac{\ell - a_n}{\|\ell - a_n\|} & , \|a_n - \ell\| > r \end{cases}.$$

It follows that the inequality $\|a_n - b_n\| \leq r$ holds for every $n \in \mathbb{N}$. We also obtain

$$\|b_n - \ell\| \leq \begin{cases} 0 & , \|a_n - \ell\| \leq r \\ \|a_n - \ell\| - r & , \|a_n - \ell\| > r \end{cases}.$$

Let us show that $b_n \xrightarrow{A} \ell$.

$$\begin{aligned} \left\| (1-t) \sum_{n=0}^{\infty} b_n t^n - \ell \right\| &= \left\| (1-t) \sum_{n=0}^{\infty} (b_n - \ell) t^n \right\| \\ &\leq (1-t) \sum_{n=0}^{\infty} \|b_n - \ell\| t^n \\ &\leq (1-t) \sum_{n=0}^{\infty} (\|a_n - \ell\| - r) t^n \\ &= (1-t) \sum_{n=0}^{\infty} \|a_n - \ell\| t^n - (1-t)r \sum_{n=0}^{\infty} t^n \end{aligned}$$

and thus we have

$$\left\| (1-t) \sum_{n=0}^{\infty} b_n t^n - \ell \right\| \leq (1-t) \sum_{n=0}^{\infty} \|a_n - \ell\| t^n - r. \tag{2.3}$$

Since $a_n \xrightarrow{r-A} \ell$, we can write

$$\limsup_{n \rightarrow \infty} \left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\| = \limsup_{n \rightarrow \infty} \left\| (1-t) \sum_{n=0}^{\infty} (a_n - \ell) t^n \right\| \leq r.$$

Taking the limit superior both sides in (2.3), we obtain

$$\limsup_{n \rightarrow \infty} \left\| (1-t) \sum_{n=0}^{\infty} b_n t^n - \ell \right\| \leq \limsup_{n \rightarrow \infty} \left[(1-t) \sum_{n=0}^{\infty} \|a_n - \ell\| t^n \right] - r.$$

This implies that $b_n \xrightarrow{A} \ell$. □

Proposition 2.2. (i) If $a_n \xrightarrow{r-A} \ell_1$ and $b_n \xrightarrow{r-A} \ell_2$, then $a_n + b_n \xrightarrow{2r-A} \ell_1 + \ell_2$.

(ii) If $a_n \xrightarrow{r-A} \ell$, then $\lambda a_n \xrightarrow{|\lambda|r-A} \lambda \ell$ for each $\lambda \in \mathbb{R}$.

Proof. (i) Suppose that $a_n \xrightarrow{r-A} \ell_1$ and $b_n \xrightarrow{r-A} \ell_2$. Let $\varepsilon > 0$ and $t \in (0, 1)$. Then there exist $N_1(\varepsilon), N_2(\varepsilon) \in \mathbb{N}$ such that

$$\left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell_1 \right\| < r + \frac{\varepsilon}{2} \text{ for all } n \geq N_1(\varepsilon)$$

and

$$\left\| (1-t) \sum_{n=0}^{\infty} b_n t^n - \ell_2 \right\| < r + \frac{\varepsilon}{2} \text{ for all } n \geq N_2(\varepsilon).$$

Let $N(\varepsilon) = \max\{N_1(\varepsilon), N_2(\varepsilon)\}$. Hence, we have

$$\begin{aligned} \left\| (1-t) \sum_{n=0}^{\infty} (a_n + b_n) t^n - (\ell_1 + \ell_2) \right\| &\leq \left\| (1-t) \sum_{n=0}^{\infty} a_n t^n + (1-t) \sum_{n=0}^{\infty} b_n t^n - \ell_1 - \ell_2 \right\| \\ &\leq \left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell_1 \right\| + \left\| (1-t) \sum_{n=0}^{\infty} b_n t^n - \ell_2 \right\| \\ &< r + \varepsilon/2 + r + \varepsilon/2 = 2r + \varepsilon \end{aligned}$$

for all $n \geq N(\varepsilon)$, which completes the proof.

(ii) For $\lambda = 0$ the statement is trivial. Let $\lambda \neq 0$. Since $a_n \xrightarrow{r-A} \ell$, for every $\varepsilon > 0$ and each $t \in (0, 1)$ there exists an $N(\varepsilon) \in \mathbb{N}$ such that

$$\left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\| < r + \frac{\varepsilon}{|\lambda|} \text{ for all } n \geq N(\varepsilon).$$

Then we have

$$\begin{aligned} \left\| (1-t) \sum_{n=0}^{\infty} \lambda a_n t^n - \lambda \ell \right\| &= |\lambda| \left\| (1-t) \sum_{n=0}^{\infty} a_n t^n - \ell \right\| \\ &\leq |\lambda| \left(r + \frac{\varepsilon}{|\lambda|} \right) \\ &= |\lambda| r + \varepsilon \end{aligned}$$

for all $n \geq N(\varepsilon)$. Thus, we obtain $\lambda a_n \xrightarrow{|\lambda|r-A} \lambda \ell$ for each $\lambda \in \mathbb{R}$. \square

3. Conclusion

The converse of Theorem 2.1 is not true. That is, if a sequence is rough Abel convergent, it may not rough convergent to the same point. The Proposition 2.2 shows that the sum of rough Abel convergent sequences with the same degree of roughness converges with a different degree of roughness. In other words, the roughness degree $2r$ cannot be decreased. It also states that the scalar product of a rough Abel convergent sequence converges with a different degree of roughness. After that, we can examine some properties of the set of rough Abel limit points of a sequence.

Article Information

Acknowledgements: The authors would like to express their sincere thanks to the editor and the anonymous reviewers for their helpful comments and suggestions.

Author's contributions: All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Conflict of Interest Disclosure: No potential conflict of interest was declared by the author.

Copyright Statement: Authors own the copyright of their work published in the journal and their work is published under the CC BY-NC 4.0 license.

Supporting/Supporting Organizations: No grants were received from any public, private or non-profit organizations for this research.

Ethical Approval and Participant Consent: It is declared that during the preparation process of this study, scientific and ethical principles were followed and all the studies benefited from are stated in the bibliography.

Plagiarism Statement: This article was scanned by the plagiarism program. No plagiarism detected.

Availability of data and materials: Not applicable.

References

- [1] Phu, H. X.: *Rough convergence in normed linear spaces*. Numerical Functional Analysis and Optimization. **22**, 201-224 (2001).
- [2] Phu, H. X.: *Rough convergence in infinite dimensional normed spaces*. Numerical Functional Analysis and Optimization. **24**, 285-301 (2003).
- [3] Aytar, S.: *Rough statistical convergence*. Numerical Functional Analysis and Optimization. **29** (3-4), 291-303 (2008).
- [4] Dündar, E., Çakan, C.: *Rough I-convergence*. Demonstratio Mathematica. **47** (3), 638-651 (2014).
- [5] Pal, S. K., Chandra, D., Dutta, S.: *Rough ideal convergence*. Hacettepe Journal of Mathematics and Statistics. **42**(6), 633-640 (2013).
- [6] Malik, P., Maity, M.: *On rough statistical convergence of double sequences in normed linear spaces*. Afrika Matematika. **27**, 141-148 (2016).
- [7] Kişi, Ö., Dündar, E.: *Rough I_2 -lacunary statistical convergence of double sequences*. Journal of Inequalities and Applications. **2018**, 230 (2018).
- [8] Debnath, S., Rakshit, D.: *Rough convergence in metric spaces*. In: New Trends in Analysis and Interdisciplinary Applications. 449-454 (2017).
- [9] Arslan, M., Dündar, E.: *On rough convergence in 2-normed spaces and some properties*. Filomat. **33** (16), 5077-5086 (2019).
- [10] Dündar, E., Ulusu, U.: *On rough convergence in amenable semigroups and some properties*. Journal of Intelligent & Fuzzy Systems. **41**, 2319-2324 (2021).
- [11] Kişi, Ö., Dündar, E.: *Rough ΔI -statistical convergence*. Journal of Applied Mathematics & Informatics. **40** (3-4), 619-632 (2022).
- [12] Ölmez, Ö., Akçay, F. G., Aytar, S.: *On the rough convergence of a sequence of sets*. Electronic Journal of Mathematical Analysis and Applications. **10** (1), 167-174 (2022).
- [13] Subramanian, N., Esi, A.: *Wijsman rough convergence of triple sequences*. Matematychni Studii. **48**, 171-179 (2017).
- [14] Powell, R. E., Shah, S. M.: *Summability theory and applications*. Van Nostrand Reinhold. London (1972).

Affiliations

ÖZNUR ÖLMEZ

ADDRESS: Suleyman Demirel University, Department of Mathematics, 32260, Isparta, Turkey.

E-MAIL: oznur_olmez@hotmail.com

ORCID ID:0000-0001-6563-8732

ULAŞ YAMANCI

ADDRESS: Suleyman Demirel University, Department of Statistics, 32260, Isparta, Turkey.

E-MAIL: ulasyamanci@sdu.edu.tr

ORCID ID:0000-0002-4709-0993